Saéa () a0

Division (2 digitos)

Nombre:

38+3 =

54+3 =

66 +4 =

87+2 =

548 =

71+3 =

97 +7 =

6+2=

77+3 =

92+2 =

52+6 =

309 =

98 +2 =

55+7=

22+7 =

52+7 =

67+7 =

87+ 6 =

14+3 =

96 +2 =

78+2 =

30+5 =

51+6=

93+ 8 =

48+9 =

Fecha:

82+7 =

86+7 =

42 +3 =

69+9 =

25+8 =

92+5=

28+9 =

57+4=

42+9 =

81+8=

74 +7 =
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Puntuacion:

85+4 =

644 =

48 +3 =

79+8 =

9+9 =

67+3 =

83+2 =

37+2=

39+7=

44 +4 =

93+9 =

25+8 =
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Divisioén (2 digitos)

Nombre:
38 —-38——122
3 73
54+3=18
66*4—33—16
T2 )
87-2—87—431
)
54'8—27—63
Y4 T4
ﬂ'3—71—B2
T3 773
97-7——97—136
7 T
6+2=3
77 +3 = -—252
T3 73
92 =2 =46
52+6= —82
373

55+7:7:7T7'
227 = —31
IR
52+7 = —73
I B
9+9=1]
677 = —94
R
87'6—29—14
Y2 T
14+3=?:4§
96 +2 =48
78 +2 =39
30+5=6
51-6—17—81
2 ™

Fecha:

82 = —82—11
: _7_
86+7= = = 1

77T
42+3 =14
69 + ='3—:7'§
25+8:§:3§
92 = —92—18
: _5_
7 8—7
-8
28+9 = —31
79 79
57+4 = —141
4 4
42+9:?:4§'
81+8:§:10§
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Puntuacion:
85 —85—211
4 T4
644 =16
48+3 =16
79+8='§':9'§
9+-9=1
67'3—67—221
T3 73
83 +2 = 83—411
C 2 T2
37'2—37—181
C2 T2
39'7—39—54
7T
44 +4=11
93+9:?:10§
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